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1. Calculate the speed of light in diamond.



2. Light strikes a flat piece of Crown glass at an incident angle of 600. 
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a. What is the angle of refraction θA in the glass?
b. What is the angle θB at which the ray emerges from the glass?


Answers:

1. 
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2. 
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3. 
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n1 sin(θ1) = n2 sin(θ2 )



sin(60) = nA
n1
sin(θA ) =



1.003
1.52



sin(60o ) = 34.9o



θB = 34.9
o
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n1 sin(θ1) = n2 sin(θ2 )



sin(θA ) =
nB
nA
sin(θB ) =



θB = 60.0
0 (Opposite process!)
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TABLE 23-1
Indices of Refraction’

Medium n=c/v

Vacuum 1.0000
Air (at STP) 1.0003
Water 133
Ethyl alcohol 136
Glass

Fused quartz

Crown glass

Light flint
Lucite or Plexiglas
Sodium chloride
Diamond

X = 589 nm
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nd =
c
vd



vd =
c
nd



= 3.00x10
8m / s



2.42
= 1.24x109m / s
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